
21-Apr-16

21-Apr-16

Färlöv armrest

IKEA of Sweden AB

Document number: 

Alternative document number:

Approved by:

Registered by:

Comments:

ANRNU

ANRNU

Page 1 (1)

Product:

List of Components

AA-1570681-4

Bag Pos Qty AltSecFitting Description

12 148541 NUT TEE M8 ø10/23x8 ZN.PL
CLASS 4, RIVET FUNCTION

 1

M/8 100854 WASHER ø8,4/22x1,5 ZN.PL.
....

For frame assemblyComment:

 2

M/2 100032 THREADED PIN M8x44 4.8 ZN.PL
....

For frame assemblyComment:

 4

M/2 104864 NUT SLEEVE K M8 ø10/20x16 ZN.P
HEX5, ZN.PL..

For frame assemblyComment:

 5

M/6 100471 SCREW M6S M8x50 8.8 ZN.PL
HEX13, FULLY THREADED....

For frame assemblyComment:

 6

M/1 108490 KEY HEXAGON- 5MM L=76 ZN.PL

L-SHAPE, WIDTH=31, LENGTH=76, HARDENED 

HRC 52 +5/-10..
For nut sleeve assembly.Comment:

 7

M/1 102428 SLIDE PROTECT.ø28x3 FELT/WH 4p
WHITE 4pcs/sheet....

Drawing: PM-041324-0

for feetComment:

 8

 (Bag) Fitting bag grouping (Qty) M/ = Assembly set

 (Alt) Alternative fitting exists         For basic requirements and security fitting see specification IOS-PRG-0004

 This document is the property of IKEA and may not be duplicated to anyone without permission from IKEA.

 Copyright © IKEA of Sweden AB 2016


